

$$1. \left. \begin{aligned} x^3 - 2x^2 &= 2x + 1 \text{ (تقریباً) } \rightarrow \begin{cases} x_1^3 = 2x_1 + 2x_1^2 + 1 \\ x_2^3 = 2x_2 + 2x_2^2 + 1 \end{cases} \rightarrow x_1^3 = x_2^3 \rightarrow x_1 = x_2 \end{aligned} \right\}$$

تابع است

$$2. x \cos y = y \cos x \text{ مثال تعیین} \rightarrow x = \frac{\pi}{2} \quad \frac{\pi}{2} \cos y = y \cos \frac{\pi}{2} \rightarrow \cos y = 0 \rightarrow y = \frac{\pi}{2}, \frac{3\pi}{2}, \dots$$

تابع نیست

$$3. \frac{x+y}{2} = \sqrt{xy} \rightarrow x+y = 2\sqrt{xy} \rightarrow x+y - 2\sqrt{xy} = 0 \rightarrow (\sqrt{x} - \sqrt{y})^2 = 0$$

$$\sqrt{x} - \sqrt{y} = 0 \rightarrow \sqrt{x} = \sqrt{y} \rightarrow x = y \text{ تابع است}$$

$$4. xy^2 + 2x - y^3 - 2y = 0 \rightarrow x(y^2 + 2) - y(y^2 + 2) = 0 \rightarrow (y^2 + 2)(x - y) = 0$$

۲ عامل

$$\rightarrow x - y = 0 \rightarrow x = y \text{ تابع است}$$

$$15. |x-1| \geq 2 \rightarrow x-1 \geq 2 \rightarrow x \geq 3$$

$$x-1 \leq -2 \rightarrow x \leq -1$$

$$x = -1 \rightarrow x(-1)^2 - b = a + x(-1) \Rightarrow x - b = a - x \Rightarrow \boxed{a+b = 2}$$

$$20. y = \sqrt{a - bx - x^2} \rightarrow -x^2 - bx + a \geq 0$$

$$\frac{b}{+2} - \frac{a}{+1}$$

$$\Delta \geq 0 \quad a, b \rightarrow a+b = \frac{b}{-1} \rightarrow b = -a - b \rightarrow -a = 2b \rightarrow a = -2b$$

$$x=b \rightarrow -b^2 - b^2 - 2b = 0 \rightarrow -2b^2 - 2b = 0 \rightarrow -2b(b+1) = 0$$

$$\begin{matrix} \downarrow & \downarrow \\ 0 & -1 \end{matrix}$$

$$25. b=0 \rightarrow a=0 \quad \text{و غیر}$$

$$b=-1 \rightarrow a = -2(-1) = 2 \quad \text{و غیر}$$

$$\boxed{a+b = 2+(-1) = 1}$$

$$ax^2 + bx + c > 0 \rightarrow \text{نیست (مثبت) یا منفی (منفی) } \rightarrow a < 0$$

زیرا اگر اقل باشد ۲ طرفی است و ۳ هم ممکن است

$$bx + c > 0 \rightarrow bx > -c \xrightarrow{b > 0} x > -\frac{c}{b} \quad \text{و غیر} \rightarrow x \in (-\infty, -\frac{c}{b}) \quad | \quad x \in (-\frac{c}{b}, \infty)$$

$$b < 0 \rightarrow$$

$$x < -\frac{c}{b} \rightarrow -\frac{c}{b} = 2 \rightarrow c = -2b$$

$$\frac{1}{a} + c = \frac{1}{b} \rightarrow -2b - (-b) = -b \rightarrow \boxed{-b}$$

$$\text{الف) } f(x) = \sqrt{\frac{1}{|x|-[x]}} \rightarrow |x| - [x] \neq 0 \rightarrow |x| \neq [x]$$

$$\rightarrow D = \mathbb{R} - \{2^+ \cup \{0\}\}$$

$$\text{ب) } f(x) = \sqrt{x} + \sqrt{y} = 9 \rightarrow x \geq 0 \quad y \geq 0 \quad \sqrt{y} = 9 - \sqrt{x} \rightarrow 9 - \sqrt{x} \geq 0$$

$$\sqrt{x} \leq 9 \rightarrow x \leq 81$$

$$D = [0, 81]$$

$$\text{الف) } f(x) = \sqrt{\log_{\frac{x}{x-1}} \frac{x-1}{x}} \quad \frac{x-1}{x} > 0 \rightarrow \frac{x-1}{x} > 1 \rightarrow x > \frac{1}{x} \rightarrow \left(\frac{1}{x}, +\infty\right) - \{1\} \quad \text{I}$$

$$x > 0, x \neq 1$$

$$\log_{\frac{x}{x-1}} \frac{x-1}{x} \geq 0 \rightarrow \frac{x-1}{x} > 1 \rightarrow x > \frac{1}{x} \rightarrow x > \frac{1}{x} \quad \text{II} \quad D = [1, \infty) - \{1\}$$

$$\text{ب) } f(x) = \log_{\frac{1}{4+\sqrt{|x|-|x|}}} \frac{1}{4+\sqrt{|x|-|x|}} \rightarrow \frac{1}{4+\sqrt{|x|-|x|}} > 0 \rightarrow 4+\sqrt{|x|-|x|} < 0$$

$$\sqrt{|x|} > |x| - 4 \rightarrow |x| > |x|^2 + 16 - 12|x| \rightarrow |x|^2 - 12|x| + 16 < 0$$

$$(|x| - 4)(|x| - 9) < 0$$

$$\begin{matrix} \downarrow & & \downarrow \\ 4 & & 9 \end{matrix}$$

$$\frac{x}{+} \quad \frac{9}{-} \quad \frac{4}{+}$$

$$\rightarrow 4 < |x| < 9$$

$$\rightarrow -9 < x < 9$$

$$y = \sqrt{\frac{x^2 + p}{x+b}} + a \rightarrow \frac{x^2 + p}{x+b} + a \geq 0 \rightarrow \frac{x^2 + p + a(x+b)}{x+b} \geq 0$$

$$x = p \rightarrow p + b = 0 \rightarrow b = -p$$

جواب: $\{x \in \mathbb{R} \mid x \in (-\infty, p) \cup (p, +\infty)\}$

$$[n] \rightarrow n \geq 0 \rightarrow m-1-n+1 \geq 0 \rightarrow n \geq 0 \rightarrow n \geq 0$$

$$[n] \rightarrow n < 0 \rightarrow m+1-n+1 \geq 0 \rightarrow m+2 \geq 0 \rightarrow n \geq \frac{m+2}{2} \rightarrow \frac{m+2}{2} \leq n < 0$$

$$B = [-\frac{m}{2}, +1)$$

$$y = \frac{m^m + m^m + 1 + m + m}{(m^m + m^m + 1)^m} = \frac{m^m + m^m + 1 + m + m}{(m+1)^m}$$

$$\frac{m^m + m^m + 1 + m + m}{(m^m + m^m + 1)^m} \Big| \frac{m+1}{m^m + m^m + 1}$$

$$= \frac{(m+1)^m \times m}{(m+1)^m} \rightarrow B = [1 - \frac{1}{m}, 1)$$

$$\frac{m^m + m^m + 1 + m + m}{m+1} \Big| \frac{m+1}{m+1}$$

$$\frac{m+1}{m}$$

$$1 - \log m \geq 0 \rightarrow \log m \leq 1 \rightarrow m-1 \leq 1 \rightarrow m \leq 2 \rightarrow n \leq \frac{m+1}{2}$$

$$m-1 > 0 \rightarrow n > \frac{a}{r} \rightarrow n \in (\frac{a}{r}, \frac{a+1}{r}] \quad c-b = \frac{a+1}{r} - \frac{a}{r} = \frac{1}{r} \rightarrow 0$$